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EDUCATION
( Major )
Paper : 5.5

( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full maris
for the questions

Answer either in English or in Assamese

1. Answer the following questions :

I1x7=7
©oq 2y Ted fid
(@) Write a definition of statisticg,
AR A 951 ke e |
(b) Round off the following Number tq
decimals : R
T WY P R s NRs
(round off) ¥4 : =
81-72558
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(2) (3)
(c) Write the formula to determine range. (b) Find out the value of mode from the
Sfrear Sacs] BT | following scores :
7 worq AR 9 TR Sfere
(d) Write the formula for mean by short 192, 1416, 19514, 15, 14, 17. 16
method for grouped scores. ’ s
=12 p b d =4.
TR AR I 5 e % SEea S ( Ifalog 0{1@3 226, =408, find the
forait | il &
T Qs =123-27 9¥ Q0 =4-03 ¥, Q3 I\
(e} Write the formula for SD of ungrouped . el |
scores. (d) Write the formula to compute r directly
YRS {19 SD Tfered T 7 | from raw scores when deviations are
: taken from zero (without calculating
(f) Write Spearman’s formula for finding deviation from mean).
out the coefficient of correlation. .i b1 EERIR o[ CIRebETE e Rpfes
NI FDT7m @F A AT 1 | - <R <1 o SRR SR 3 S o (sreq
o1 Rprfed T AT TRANF) |

(g9 What is the value of the measure of

kurtosis in a normal curve? 3. Answer any three of the following questions :

P IG GO CFaS 37 IFO[ 1o 5x3=15
T R 2 | wor ey i Al Fofer e i -
(a) Write about the drawing procedure of
2. Answer the following questions : Ix4=8 histogram. e
=
O PR T firy et E Aw S Sl
: (b) Write a note on percentile point and
(a) z;'nte the. names of two types of bar percentile rank.
o worg [ SE O ¥ TN @B G
S5 1 et o fore | i)
A9/199
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(c)

(d

(e)

A9/199

(4)

Mention three uses of mean, median
and mode.

SIS, WY S qIEd [OF0IE qREE TEy
3401

In sample A (N =25), M=80and ¢ =15;
in sample B(N =75), M =70 and ¢ =25.
What is the SD of A and B when
combined into one distribution of
100 cases?

T A (N =25 9@, M =80 9F g =15;
7 B(N =758 914, M =70 9% ¢ =25.
A 9% BT ge Remd et R (rge
N =100) SD3 9+ Sferedt |

In an achievement test, 20 students of g
class have scored as below :

951 o7 AIFS @A 9B T 20w

Prmicy weroe fral 4qed 21T A R -
12, 20, 25, 15, 8, 32, 28, 35, 22,
44, 36, 17, 29, 13, 9, 37, 40, 21,
10, 42

Find out the percentile rank of the
score 17.

AEIE 173 *reiex Fre Sfeqed |

( Continued )

)
4. (q)
A9/199

(5)

A student obtains 70 marks in
Mathematics and 67 in Science. If the
mean and SD for the scores in Maths
are 60 and 8 and for the scores in
Science are 33 and 9 respectively, find
out in which subject, Maths or Science,
the student did better.

s P sffee 70 W Reme 67
S i | A ofFe RN @R o w9 60
e W Rpfe 8 2 wiee Rem Rewe wdi
o5 w79 33 9 T [pfe 9 =/, cofear’e
BRI (P s, sfies @ Fars
7 e e SRR ?

Compute standard de'\'iat'ion For thie
following frequency distribution and
interpret the answer :
o R [ O Rl FR A1 s
Ripyf Oferea ST ST T SHRCET -

Class Interval Frequency
s )
45-49 2
40-44 5
35-39 8
30-34 5
25-29 10
20-24 15
15-19 ks
10-14 16
59 6
| N-80 |

8+2=10



(6) 7))

Or / 5%l Or / ST
(b) Compute the coefficient of correlation by (b) Draw 5 cumulative freque];"lcy
rank difference method for scores of percentage curve from the following
10 students obtained in Test X and distribution and show the values of P,g
Test Y and interpret the result :  8+2=10 and P, in the graphical representation :
10 & Fr@icn X oie Y RS @ g 242510
TIPTR R BH I R RIS T o RSTEE o ST ARARS] TORY I
BT el S Feqeerd WL SR < w5 1 OF EARRT TS Py W
Student : A.B. C D E F G H I J P53 AN Gy Sq :
TestX : 40 37 18 19 32 37 40 18 15 16 R e Frequency
TestY : 38 38 32 15 32 36 38 17 14 18 e IR el RS
55-59 5
5. (a) Calculate Py and P;5 from the following 50-54 9
frequency distribution table and find 45-49 17
out the value of quartile deviation from 40-44 10
the found results : 4+4+2=10 35-39 14
W ng 3\5 a\fﬁq 9 gqia W P25 w 30_34 18
Pysd I Tfered] WF 21 FeAwed o[ vodd 25-29 10
Rpifes 7= Sferear 20-24 7
Scores Frequency ) N =90
70-79 3
60-69 2 6. (@) 6000 students appeared for B.Eq
50-59 2 examination conducted by a university,
e 2 After analysis of results, the mean wag
ol g 5 be 50 and SD was 5. A ;
20-29 4 found to be 5 - Assuming
10-19 3 the distribution to be normal, answer
0-9 2 following : 5+5=
N =24 the =10
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(b)

A9—8000/199

(8)

@3 fefmE «fee $9 B.Ed cRrEe
6000 Freicy @l (2f%e | Fees Remem
frze 1% 50 9% qme REfS 5 cmn s'= |
o31m epmmreRE fefee 3 4Rt oo

(i) Calculate the number of students
obtaining marks 60 and above.
60 I ©F HiEF FF9 €l FrmFa 14
Tfere |

() How many students will fall within
the score range 40 and 65?
40 9 65 7399 WMo 491 Frwdi ey
Sferad] |

Or / 911

What do you understand by the terms
‘normal distribution’ and ‘normal curve’?
Discuss the main applications of the
concept of normal curve in the field of

Education and Psychology. 3+3+4=10

‘o [STEs’ S CePTEIT 9@ FRe
@7 P S TCNREHA CRagTe oy
@9 4R A4 AT A A 47 |

* ok Kk

3 (Sem-5) EDN M 5



